N = 0l & At & M A

20218 = =0l &b L BHeI A A
A= 2o FHE= FM 230z
HH: RMsLATIE (2L 2E /20 =)
el E30IBtE (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
2B E= 468,009, 163 561,489,834 A 03,480,671
= 74,614,885
s 62,674,000
J| 59,656,218
< 271,064,060
=1t 63,233,379 59,060, 883 4,172,496
= 5,073,049
J| 11,541,430
< 46,618,900
S AP UE (2L 22 /230 =) 61,884,776 57,502,663 4,382,113
= 5,073,049
J| 11,541,430
< 45,270,297
SIS 5,406,610 5,307,900 98,710
230=s 2 HE (HEAY) 1,550,000 2,495,000 A945,000
403 MtXISHHE X201 & 1,550,000 2,495,000 A 945,000
01 AXISHH A2 E= 1,550,000 2,495,000 A945,000
O4=2st0=sl 2 300,000
DI FMUSEsta23HEe 228 1,250,000
S FAER2 (HEAY) 1,810,000 200,000 1,610,000
403 X SHHSA=0l& 1,810,000 200,000 1,610,000
01 XM A2E X 1,810,000 200,000 1,610,000
Ocd=2st2dd 1,740,000
OZEEZAANEMEAS 70,000
2sJIgtEd =& 15,610 16,900 A 1,290
201 Let249] 4,000 4,000 0
01 At 22/l 4,000 4,000 0
Oggt=2tl 4,000
OZsIIBANERASHES 4,000
203 YR =& 11,610 12,900 21,290
03 Al =AY 2= 11,610 12,900 A 1,290
O=2stlssdY 28| 11,610
Ol = o) M IBTLANE (M EHALY) 1,464,000 1,463,000 1,000
308 AHAIEHHSOIA 1,464,000 1,463,000 1,000
01 HIXNHHNBHNEELS 1,464,000 1,463,000 1,000
OZF0=2dIBTLAIE S U E 528,000
OS2t =2 dIBTLAMISE U= 936,000
HER2IANEXN A (MEALY) 567,000 1,133,000 A 566,000
403 A X EHS =0l A 567,000 1,133,000 A 566,000
01 X SHHXN2E = 567,000 1,133,000 A 566,000
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AR SBRBHS2 2N 230z
H: S0z MPIE(SL2HZ /250 =)
te: S22 =X (2 &HH)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ol At o gﬁ‘&i HR=2
Ot uelinsie 21,000
OJHA=ESsLE XS 30,000
NEW=&4d5 X 14,720,073 14,125,293 594,780
2 1,417,710
Jl 311,000
o 12,991,363
Stz AMAH 741,273 741,273 0
= 570,210
= 171,063
308 X+ Xl &M S 0l & 741,273 741,273 0
= 570,210
o= 171,063
01 AIXSHMENEXZ 741,273 741,273 0
O=22=20t0 =2 AX & 741,273
2 570,210
& 171,063
NEW=&dsx=4X 45,000 20,000 25,000
201 LBt 20,000 20,000 0
01 AP 22| H| 20,000 20,000 0
OBt &H| 20,000
OXNgi==248steAd=sHES 20,000
308 XAHXIEHSOIA 25,000 0 25,000
01 AIXISHMEALE 25,000 0 25,000
OY9dstsel " AE XIS (F0 25,000
SATTHEHAEIY (HEA) 230,000 150,000 80,000
308 XHXIGH SO0l & 230,000 150,000 80,000
01 AIXSHHEMNEXZ 230,000 150,000 80,000
OZSEITIHAHAEEY 230,000
[Z=o=&4d3s 2,396,900 3,265,000 A 868, 100
307 I2H0| & 1,836,400 2,259,000 422 600
02 QIZHYAAYEE 809,560 1,118,800 309,240
Ozecdu=2sie 572,810
OzEcduz=nsS A& 236,750
03 AU EESIHE=X 70,000 70,000 0
Ost=s3Md=HEg2d 70,000
04 SIZ2HSHAAISH E & 956,840 1,070,200 A 113,360
OZAcAA0 =HA XS 956,840
308 AXISHSOIA 560,500 1,006,000 A 445,500
01 AIKSHHENEXZ 560,500 1,006,000 A 445,500
OXNEHEM=H 560,500
NEEHs0 =X 2,868,600 2,197,820 670,780




A= 2o FHE= FM 230z
HH: RMsLATIE (2L 2E /20 =)
Ehel: NEM=gd3tia (cho &)
- _ — d =
224 B BN NRAY - BES 0] &k o4 e HlDE2
308 X EHSOIA 2,868,600 2,197,820 670,780
01 HIXNHHBHNEELES 2,568,600 2,197,820 370,780
Osgusx& 223,000
SHM=X& 896,300
O&AlM=X& 196,500
O&dsu=X& 613,700
O=28d=X& 239,100
OZ2 2193 A2 2stt=2 483N 400,000
11 3J2SoHUHSIHHAE ALS HI 300,000 0 300,000
O2ZUH19I === 43 X3 300,000
=g Adas 78,000 83,400 A5,400
308 AHXIEHHSOIA 78,000 83,400 25,400
01 HIXNHHNBMNEELES 78,000 83,400 A5,400
O=Rstlznsedstid 78,000
=W AMA 499,300 947,800 A 448,500
308 XXM SOl A 499,300 647,800 A 148,500
01 IXNHHBNEES 499,300 647,800 A 148,500
OXNSol=sSaadstid 499,300
st =MA 50,000 50,000 0
J| 10,000
< 40,000
308 MXIEHSOIH 50,000 50,000 0
J| 10,000
< 40,000
01 AXHHIBLEES 50,000 50,000 0
Ost=2e S0 =ME A 50,000
J| 10,000
< 40,000
NAHSZ2ENUS XA (IR X ) 100,000 100,000 0
308 A EHHSOIA 100,000 100,000 0
01 HXNHHBHELS 100,000 100,000 0
OMA S22t 3 I & 100,000
HENSXNSEHCEASZATI (S NAEZTXA) 300,000 400,000 A 100,000
308 XXM SO A 300,000 400,000 A 100,000
01 IXNHHBNEES 300,000 400,000 A 100,000
O3FEHEALLAZHNR 300,000
ANER2e=SEa RS (MEALY) 1,688,000 1,687,000 1,000
308 XXM SOIA 1,688,000 1,687,000 1,000
M3 2SoHetE & X2 EA I 1,688,000 1,687,000 1,000
OXNGS2SH=SELS XA 1,688,000




M ox
40 5 4

Zo2ZH=E= SAN 230
EstdlsdAdIE (2L 2Z /230 =)
ANSEol=gdsthd

AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
NG 2st0lsnsINR= 1,080,000 1,080,000 0
= 540,000
< 540,000
308 AHAIEHHSOIA 1,080,000 1,080,000 0
= 540,000
< 540,000
1132 SoHUHSBHEAEALS I 1,080,000 1,080,000 0
OXE=23tisnsIeRs 1,080,000
= 540,000
< 540,000
HotIt==2 st s k& 250,000 250,000 0
308 XXM SO0l A 250,000 250,000 0
N 3JN2SHUe3AHAE A 250,000 250,000 0
OROIt==2st&2s k& 250,000
Zot=wUSAAHAXA 215,000 240,000 225,000
= 107,500
< 107,500
308 XXIEHHSOIA 215,000 240,000 A 25,000
= 107,500
< 107,500
3 2SOHeE & X 2 AL I 215,000 240,000 A25,000
ORstMlsnSAAE NI 215,000
= 107,500
< 107,500
ee=0=Ua (2B NRE) 150,000 225,000 275,000
308 A EHHSOIA 150,000 225,000 A75,000
01 HXNHHNBHELS 150,000 225,000 AT75,000
[J2021CHEH I =0l =TH & 150,000
SO0tz 200,000 200,000 0
= 100,000
< 100,000
308 XXM SO0l A 200,000 200,000 0
= 100,000
< 100,000
N 3JN2SHUe3 A A 200,000 200,000 0
ORO0t2stlz=nsX& 200,000
= 100,000
< 100,000
SHIMNFHAHSENE 602,000 588,000 14,000
J| 301,000
< 301,000
308 XtXIEHH SOl A 602,000 588,000 14,000
J| 301,000
< 301,000
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A2 2 2BHS2 2A 2302
HH: RMsLATIE (2L 2E /20 =)
€ TE=CRIEELE (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
301 LEHZ 9,543,170 9,797,707 N 254,537
NVi=td - 2sRSEd= 9,543,170 9,797,707 N 254,537
OEgIdcE 3,110,560
OoJlzs 2,279,290
- Xl & Xt 5,310,500 «1H «12& 63,726
- & 4,819,800& x1&H 128 57,838
-4 3,155,500 «7H «12& 265,062
PR 3,182,100 x7H x12& 267,297
- o2 3,231,800& +38H x12& 1,473,701
- AR 3,775,000 28« 12& 90,600
- A2 (82) 2,544 400 x2H x 123 61,066
o&z2=+¢ 2,279,290,000& *1/12%50%*23] 189,941
(OFSFms ot =) P = 58,920
- 2080l & 100,000& »33H »12& 39,600
- 158 01 &f20= 01 8¢ 80,0003 x10H 128 9,600
- 108 01 &f 15 01 &t 60,000& x6H » 122 4,320
- 54041001 2t 50,000& x9H 12 5,400
O&FZ=EFItet= 8,760
- 25490l & 30,0003 20 «128 7,200
- 204 0l &f 254 0 &t 10,000& x13¥ «12& 1,560
OMAEE+EY 57,600
- EsE 39,600
- S X 40,000 35«12 16,800
JIEHIHS 20,0003 208 «128 4,800
ANE(S™) 60,000 x20H x12& 14,400
KA (A 100,000& 3 128 3,600
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A2 23BBAS2 SN 2EAYD
Ha: 2HIUANLRN(RHUBY/2HUDZ YY)
Sl 2a)EEw EERED
L=
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
OJst=osgds0gd (=g &0) 50,000
403 MHXISHHE X201 E 500,000 0 500,000
01 XM A=2EER 500,000 0 500,000
D825 =HEAWESATAZHE2E 500,000
E2ASSFHANSTGAL (HEAY) 2,082,000 3,054,000 A972,000
308 XX EHH SOl A 2,082,000 2,334,800 A 252,800
01 X HHILEXS 2,082,000 2,334,800 A252,800
OZsEFNNE T LAY 2,082,000
21MIDJII 2RI £ E 600,000 600,000 0
= 300,000
< 300,000
308 AHXIEHHSOIA 600,000 600,000 0
= 300,000
< 300,000
01 HIXNHHNBMNEES 600,000 600,000 0
CO21MIDI N2 F X 3 & 600,000
= 300,000
= 300,000
ETAZEAY 1,950,000 0 1,950,000
as 1,500,000
< 450,000
308 XXM SOIA 1,950,000 0 1,950,000
s 1,500,000
< 450,000
01 AXHHBIYEES 1,950,000 0 1,950,000
OXSANSASAZTLEAL(DEETY) 1,950,000
s 1,500,000
< 450,000
oItz d =& 27,222,085 34,490,690 AT,268,605
= 315,606
s 18,702,000
< 8,204,479
SSTN2HE 18,317,000 20,571,000 A 2,254,000
s 14,557,000
< 3,760,000
403 A X EHHS =0l A 18,317,000 20,571,000 A 2,254,000
s 14,557,000
= 3,760,000
01 X EHHMA=E L 18,317,000 20,571,000 A 2,254,000
OYE g3 N8 (FSEH) 1,200,000
s 1,000,000
< 200,000
OZMANEESENSESF(ZSTHI) 1,100,000
s 1,100,000




A 2o2ZAH=E2 M 2t
Ha: 2HIUANLRN(RHUBY/2HUDZ YY)
o 230 EA (cho &)
AR .24 B BAGEN) - NRANY - BES Ol &k o8 il HlnE2
Osi3scN2EE(FSEHI) 3,800,000
s 3,000,000
< 800,000
DaszadcMae2da(ZECH]) 280,000
s 280,000
ONEEA2ESUSAL (IS ZHI) 428,000
s 428,000
O3S A2A (MESIC=E)(ZSEHI) 11,509,000
s 8,749,000
< 2,760,000
TTCHBWBAARATEY 410,285 224,690 185,595
= 315,606
= 94,679
308 XXl EHH SOl A 410,285 224,690 185,595
= 315,606
< 94,679
01 AXSGHBLAELS 410,285 224,690 185,595
O3S AMSNSAZAT2SA 410,285
= 315,606
< 94,679
SAZRAMNE = 123,000 123,000 0
308 XXM S0l A 123,000 123,000 0
01 HIXNSHHBNEES 123,000 123,000 0
OstdUitSsEA22E X 27,000
OZ=2ENEASSEHASX R 56,400
O3NS EEELAHAXRA 39,600
HASAIEZ 3 TH AL 325,000 0 325,000
as 250,000
< 75,000
403 MtXISHH S A0l & 325,000 0 325,000
as 250,000
< 75,000
01 XM A2 X 325,000 0 325,000
ORE3A(ALIE)SMMAS (FSZHI) 325,000
s 250,000
< 75,000
SEYUSAHSE N 201,000 3,324,000 A 3,123,000
s 150,000
< 51,000
403 X EHHS 20l A 201,000 3,324,000 A 3,123,000
s 150,000
= 51,000
01 X EHHMA=2LE L 201,000 3,324,000 A 3,123,000
O2gddegsae2edAd (s El) 100,000
s 80,000




Est2AZH== £ je<n[3
SIIEANLFTA (2L 2T /2oL 222
EE SIIIESEESY SERED)
. i SfE|
oSN (BH) - NEAY Ol At o %@ﬁ HRE2
= 20,000
OAfE22AMETAIA =l 101,000
g 70,000
o= 31,000
S =CIIEAE TS (HEA 1,450,000 1,950,000 A 500,000
403 XX SHHS K20 & 1,450,000 1,950,000 A 500,000
01 XIS A=2E X 1,450,000 1,950,000 A 500,000
Oaldedo|@ a2 290,000
ot Ess2A g 580,000
(RS == e = 580,000
S0z 242N 110,800 154,200 AN 43,400
201 et 9| 13,000 14,000 A 1,000
01 AP 2t 2] H| 13,000 14,000 A1,000
Ogst=2H| 4,000
ORIt RFANRSHES 4,000
Oosgx¢ 9,000
O SASAYISI S| 9,000
307 giztol A 90,000 121,000 A 31,000
02 QIZIA AAIE E X 90,000 121,000 A 31,000
OeS2A0 =2 EAIR I 90,000
308 XX SHHSOIH 7,800 19,200 A 11,400
01 IIXHHIMNEEXTZ 7,800 19,200 A 11,400
OXNYG0l=28485 X 7,800
CellsHHSE X 480,000 526,800 AN 46,800
307 2Iz2t0| & 30,000 26,800 3,200
02 QI AAIE E X 30,000 26,800 3,200
OHHelds=2d9 30,000
308 XAHXIGHH SO0l & 450,000 500,000 A 50,000
01 AXHHNIMNEXTS 450,000 500,000 A 50,000
O&sH0s22EH X2 450,000
HeCHEAZLX 98,000 872,000 AT74,000
Fag 98,000
403 XX SRS K20 & 98,000 872,000 AT74,000
Fag 98,000
01 MHXSHAHXNE2EE X 98,000 872,000 AT74,000
OXRS2CANBZLEXNK(FEZH|) 98,000
Fag 98,000
ME2FHEH LK 4,857,000 6,575,000 A1,718,000
g 3,647,000
== 1,210,000




A= 2s2ABHS2 SN 23
HM: 2| EANAFR (23U 2L /23 2T
o 230 EA (cho &)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ol At o %Ei HR=2
403 XX SHHS K20 & 4,857,000 6,575,000 N 1,718,000
Fag 3,647,000
& 1,210,000
01 AIXISHHMA2E X 4,857,000 6,575,000 A 1,718,000
OMERSIMEHESL (S X HI) 4,857,000
Fag 3,647,000
o= 1,210,000
KNEAHEAUCTAS AL (ZIIRE X H) 850,000 0 850,000
403 XX SRS K20 & 850,000 0 850,000
01 MXHHAE2E = 850,000 0 850,000
OXNYGAHEACTA S ALY 850,000
Sl =4 & 4,775,700 5,814,200 A 1,038,500
AEZEHANEKAX S 1,191,000 1,432,000 A 241,000
306 52 1,191,000 1,432,000 A 241,000
o1 s32 1,191,000 1,432,000 A 241,000
JaA=sa2d=xr=s=a2d 1,191,000
232 =L 24 615,700 1,334,200 A 718,500
201 et d| 46,300 6,300 40,000
01 AP 2t 2| bl 46,300 6,300 40,000
Ogsr=2y| 46,300
O3gAMERUS 6,300
Od=s=s2d=sg 40,000
308 XHXIEHSOIA 569,400 1,327,900 A 758,500
01 AIKSHHEMNEX= 269,400 487,900 A 218,500
D2 = M & X & 90,000
OS2 2X3ALS 10,000
DT LA 29,400
O=H=ZX20HLINOI&E SHA 41,000
OUIIIR2I0=2MIESHM A& 12,000
OW&E=MAMGEZISM AR 15,000
Dd=sd=8EHYEZSDA 30,000
OM=2SAE2S 22 H=2Z AN 24,000
[(JZSHAHAEASIIAIG L Z2 I ZNHNE 18,000
112/ 2SUHUSHEAEAE AT Y| 300,000 840,000 A 540,000
OF193| AASCHARE A UCI2SE2N 40,000
OJE=ES32U =N &S AS 120,000
OAEISAEC|EHUYEAY 120,000
M43 B A S 0I0EHeAZ = 3 20,000
N HS AL (MEAY) 988,000 1,378,000 390,000
403 XX SHHMS X201 A 988,000 1,378,000 A 390,000
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40 5 4
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st == M 254t
SHIEANEFE (2t 22 /2522 et
o] Pl e SN

- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
01 XIS A2 X 988,000 1,378,000 A 390,000
Aoyt XL (822) 13,000
OJX2dgst2dXTH (4 F) 975,000
AADICIHMEHAHE (MEAIY) 681,000 1,170,000 A 489,000
403 XX SHS K201 & 681,000 1,170,000 A 489,000
01 AIXSHHMAS2E X 681,000 1,170,000 A 489,000
OFCHAMOCHAEAE 681,000
U XAZ|0IHSI (2 E L) 425,000 450,000 A 25,000
308 XX EHSOIA 425,000 450,000 A 25,000
01 AIKSHHEMNEX= 425,000 450,000 A 25,000
O2d=32otdHeg i 425,000
1012522 X)|AXNAAS (2R EH X)) 30,000 30,000 0
308 XAHXIGH SO0l & 30,000 30,000 0
11 BI2SHUSEANE AIS Y 30,000 30,000 0
OS2 =2 XI| A& AL 30,000
NEES2ZH WL XAML (2R EXH) 400,000 0 400,000
308 MHXISHMSOIA 400,000 0 400,000
11 2| 2S00 UsHE A A AE A 400,000 0 400,000
OJXEE2U = L X AS 400,000
SUXMIUATFAIG (Z2IIEEH X)) 100,000 0 100,000
308 XX EHSOIA 100,000 0 100,000
01 AIXSHMENEX= 100,000 0 100,000
[(JSUEIAXAS 100,000
AEMHAX AL (2IRE L) 100,000 0 100,000
308 XHXIGH SO0l & 100,000 0 100,000
01 AIXSHHEMNEX= 100,000 0 100,000
OAEHHAX AL 100,000
BERUH)NASHMHRNAANS (2T X K) 245,000 0 245,000
308 XAXIGHHM SO0l & 245,000 0 245,000
01 IXHHIMNEXZ 245,000 0 245,000
OF=TE XD ESHHAE KNS AS 245,000
S22 EAM AT =K 8,018,870 5,879,300 2,139,570
AJZEAAII R 5,018,870 5,879,300 A 860,430
201 et d| 10,000 10,000 0
01 AR 22l ] 10,000 10,000 0
Ogst=2H| 10,000
OMIZCAABTENRASHES 10,000
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= A
N = 0] &F AF S & AN A
20218 &= 20 A LUHSH Al
AR S22 2N 23Kt
HE: MERHRMMANNREH (SHLUBB/25)
Ee: S ES=HH| (2 &HH)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
E3 ALY 115,258,681 105,536,491 9,722,190
= 68,926,230
Jl 8,352,768
= 37,979,683
NEL2}SAOAMHEEZ 22 (2L 22 /25H) 115,167,151 105,444,961 9,722,190
= 68,926,230
Jl 8,352,768
o= 37,888, 153
S5 E =& 78,477,575 73,584,060 4,893,515
= 57,204,140
J| 2,190,284
o= 19,083, 151
S MELSHH =X 9,720 10,800 A1,080
201 et 9| 5,400 6,000 A 600
01 AP 2t 2] d| 5,400 6,000 A 600
Ogst=2H| 5,400
OS2 MELHHIZIAREERLS 5,400
203 € R F&d| 4,320 4,800 AN 480
03 AIZH =X 2 F XY 4,320 4,800 AN 480
O3 M&elg 28 4,320
22 HEL(XLY) 68,489,457 64,059,099 4,430,358
= 55,882,140
o= 12,607,317
403 XX S M S K201 A 68,489,457 64,059,099 4,430,358
= 55,882,140
o= 12,607,317
01 XS A2E X 68,489,457 64,059,099 4,430,358
O2JIXNEESME = 68,489,457
= 55,882,140
& 12,607,317
CXNE2BSME S 5,275,000 7,350,000 A 2,075,000
403 XX SHHS K20 & 5,275,000 7,350,000 A 2,075,000
01 XIS A2 X 5,275,000 7,350,000 A 2,075,000
OSXNE2SHMHE %= 5,275,000
=M E S 100,000 100,000 0
403 XX SRS K20 & 100,000 100,000 0
01 XIS A=2E X 100,000 100,000 0
O3 M2 2% 100,000
S HMHEXAIAE = 2,620,398 2,048,950 571,448
J| 2,190,284
= 430,114
403 AIXSHHE X201 N 2,620,398 2,048,950 571,448




A= 2BBAS= FA 2eR D
B HESUASMUNHNSERL (2HLRZ/25T)
& 2AME=FH (&)
2 2A B E(AN) - MEAY - BYS Ol &k o8 il HlnE2
Il 2,190,284
< 430,114
01 HIXSHMA2E X 2,620,398 2,048,950 571,448
O2F MM XAIA RS 2,620,398
J| 2,190,284
< 430,114
2UHIEAZSS2AUH2UHAS A E Y 1,983,000 0 1,983,000
= 1,322,000
< 661,000
403 XIS E X201 & 1,983,000 0 1,983,000
= 1,322,000
< 661,000
01 X SHHMA 28X 1,983,000 0 1,983,000
OZHEAMN2eS2HEH L 23S 1,983,000
= 1,322,000
= 661,000
FMESK & 10,247,123 9,138,647 1,108,476
= 358,500
| 6,034,734
< 3,853,889
ZMESKAFE 3,000 3,650 A 650
201 £B-2dH| 3,000 3,650 A 650
01 At 22l 3,000 3,650 A 650
Oggt=2tl 3,000
O} MESNEFIMEESALHIS 3,000
ZEENLEEHFA 370,000 670,000 A 300,000
201 et 370,000 420,000 A 50,000
01 At 2teltl 370,000 420,000 A 50,000
Jget=ZH| 370,000
OZ=RRMU4EE 370,000
=S MXZOol&SHI X 39,000 46,000 A7,000
308 XXIEtH S0l A 39,000 46,000 AT7,000
01 IXNHHBANEES 39,000 46,000 A7,000
O3 MXZol&=sHl XA 39,000
2222 XA 58,500 55,000 3,500
= 58,500
308 KXIEHSO0IA 58,500 55,000 3,500
= 58,500
01 IXNHHBANEES 58,500 55,000 3,500
02K akztel 58,500
= 58,500
ZotHETHAIE R X 2el K& 1,027,395 1,004,991 22,404




M ox
40 5 4

-

>
=1}

Zo2ZH=E= 2M 23R
HERSRMUYMARNEEZ (2L 2Z/2HH)
SIMESKA

= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
Jl 910,350
< 117,045
308 XX EHHSOIA 1,027,395 1,004,991 22,404
J| 910,350
< 117,045
01 HIXNHHBNEES 1,027,395 1,004,991 22,404
23T A S XAl A B = X 22l 1,027,395
J| 910,350
< 117,045
ZSHTHETH loTAI AR 2= 343,650 343,650 0
J| 304,500
< 39,150
308 XtXIEHH SOl A 343,650 343,650 0
J| 304,500
< 39,150
01 AXNHHBANEES 343,650 343,650 0
OZSHETH IoTAIA R 2= 343,650
J| 304,500
< 39,150
EXNEZ MG LS TA AR A= 165,000 230,000 265,000
403 UHXSHHSA=0l& 165,000 230,000 265,000
01 X ESHHMA=E L 165,000 230,000 265,000
OEXNE2A MM RAIAR RS 165,000
MOt ZH AL EE 3,517,968 2,605,720 912,248
J| 2,706,079
< 811,889
308 XX EHSOIA 3,517,968 2,605,720 912,248
J| 2,706,079
< 811,889
01 IXNSHHBNEES 3,517,968 2,605,720 912,248
O23 et AH &bl X 3,517,968
J| 2,706,079
< 811,889
R} MSS ALY 4,227,610 3,839,636 387,974
J| 2,113,805
< 2,113,805
307 21201 A 4,227,610 3,839,636 387,974
J| 2,113,805
< 2,113,805
02 B AAFEX 4,227,610 3,839,636 387,974
D23t s A 4,227,610
J| 2,113,805
< 2,113,805
2 MAA 2 E8SXNIA(EXE) 105,000 210,000 A 105,000




A= 2o FHE= PN 2aRAD
HE: MERHRMMANNREH (SHLUBB/25)
??: 2AMESXH CEE-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
308 X EHSOIA 105,000 210,000 A 105,000
01 HIXNHHBHNEELES 105,000 210,000 A 105,000
OEXNE23MEE 2l XA 105,000
S M A LA X 2 e 3] N H 390,000 130,000 260,000
= 300,000
< 90,000
308 XXM SOIA 390,000 130,000 260,000
= 300,000
< 90,000
01 AXHHBISEES 390,000 130,000 260,000
D23t e SR L Xel & sl of = 390,000
= 300,000
< 90,000
AN22S TR E S} 9,881,929 3,281,857 6,600,072
AMNES2IITATH (HEAL) 6,209,429 902,857 5,306,572
403 XIS E X201 H 6,209,429 902,857 5,306,572
01 XXM A2E = 6,209,429 902,857 5,306,572
OB3FAMBEAEHA 6,209,429
A2 2N L (M SAY) 3,672,500 1,943,500 1,729,000
403 A X EHHS 20l A 3,672,500 1,943,500 1,729,000
01 X EHHMA=ZLE L 3,672,500 1,943,500 1,729,000
ODZCLERETAI2HE 2,177,500
ODngNotel8Eet =228 2 A E 1,495,000
DEEESEXNEAMY 1,907,957 1,059,271 848,686
= 1,683,000
= 224,957
DEOI0IKEIIAE (FHEZLUINZ2E 2N H) 1,842,957 994,271 848,686
= 1,633,000
< 209,957
403 MtXISHE X201 & 1,842,957 994,271 848,686
= 1,633,000
< 209,957
01 X SHHAN2E= 1,842,957 994,271 848,686
ODEO0I0I X2 INAHS 1,842,957
= 1,633,000
< 209,957
DeFEsTE A 65,000 65,000 0
= 50,000
< 15,000
308 MtXIEHMSOIH 65,000 65,000 0
= 50,000
< 15,000




AR S22 2N 23Kt
HE: MERHRMMANNREH (SHLUBB/25)
G DeEEsHXAAY (2 &HH)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Ei HR=2
01 AIKSHMEAMNEX= 65,000 65,000 0
ONEF00ESSXALE 65,000
= 50,000
o= 15,000
= OV == DN 4,853,200 4,453,475 399,725
= 3,095,300
J| 112,000
= 1,645,900
AE=ot&e 230,000 250,000 A 20,000
307 QI2t0| & 100,000 100,000 0
02 QIZ2IA AAIE E X 100,000 100,000 0
(JEBEFQREINAMBEXNLI A S HE 100,000
308 XX SHHSOIH 130,000 150,000 A 20,000
11 BI2SUHUEEAEE AT Y| 130,000 150,000 A 20,000
OZEJIEEME K& 50,000
OSIHASAS 2 80,000
A A2 SHTHAFS 746,750 645,250 101,500
= 515,000
& 231,750
308 AMXISHHMSOIA 746,750 645,250 101,500
= 515,000
& 231,750
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EoRAEEIH 18,000 48,000 A 30,000
308 XXIEHH SOl A 18,000 48,000 230,000
01 AXHHBISEES 18,000 48,000 230,000
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NIH s oEE2 &2t AL (8H= 2 S AHO 3,747,790 4,239,343 N 491,553
= 3,319,900
= 427,890

403 A X EHH S =0l A 3,747,790 4,239,343 A 491,553
= 3,319,900
< 427,890

01 X SHHAN2E = , 747,790 4,239,343 A 491,553
ONASAEE2e AL (8 3,747,790
= 3,319,900
& 427,890
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= 423,500
< 54,450

01 AXISHHA =22 = 477,950 1,240,300 AT62,350
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= 423,500
=) 54,450

NAR A S ZE 2l AL (&AL B2 2 &R S , 125,750 489,750 636,000
= 997,500
=) 128,250

403 AXEHHS =0l A , 125,750 489,750 636,000
= 997,500
=) 128,250

01 AXISHHA=2E = , 125,750 489,750 636,000
OMAS A E2e] b (& , 125,750
= 997,500
< 128,250

NAHSAEE2 ALY (Bt R 342,070 940,632 A 598,562
= 303,100
< 38,970

403 A X EH S =0l A 342,070 940,632 A 598,562
= 303,100
= 38,970

01 HXSHHG=EE 342,070 940,632 A 598,562
Oet=2dMBEZ 2 ALY 342,070
= 303,100
=) 38,970

HADIERMEESLER 195,000 195,000 0
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OMADI SR A2 EE 195,000
= 150,000
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= 367,440
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307 21201 A 150,000 0 150,000
02 It HAMHEL 150,000 0 150,000
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A= 2BBAS= FA - ZetR e
HE: MERHRMMANNREH (SHLUBB/25)
&?e?: RFEEIMXA (cho &)
- _ _ RE]
AR .24 EHH O () - HEAY - BL2 Ol At o %Ei HR=2
OFRE 23S NS ALK& 100,000
OREESSIMESASAE 404,100
ORI MESEMA 73,200
OotsS XA =028 ALY X & 11,000
OS2 UAHOAII QLSS AIAR 10,000
MDA HS XS 171,100 86,130 84,970
= 118,000
== 53,100
308 XX G SO|A 171,100 86,130 84,970
= 118,000
== 53,100
01 AIKISHHEMNEX= 171,100 86,130 84,970
OFRER2SHE =2 HSALE 171,100
= 118,000
= 53,100
2RSS MES 2L ALS 6,435 0 6,435
= 4,950
& 1,485
403 XX S M S K201 & 6,435 0 6,435
= 4,950
& 1,485
01 AXESHHIE2E X 6,435 0 6,435
OZ2JI2Y 23 MESAZ2E IS ALY 6,435
= 4,950
== 1,485
HNLEDNFAES0l= WK ALK 133,980 121,800 12,180
= 92,400
= 41,580
308 NXIEHSOIA 133,980 121,800 12,180
= 92,400
= 41,580
01 AIXSHMENMNEX= 133,980 121,800 12,180
ORI ME+DNE223H0 =0 = A X 133,980
= 92,400
& 41,580
JFOEAFE AL 2 325,300 1,450,000 N 1,124,700
= 17,000
& 308,300
JIOFAMIA R =& 3,200 8,500 A5,300
201 LBt ]| 3,200 4,000 A 800
01 AR 22l ] 3,200 4,000 A 800
OBt =H| 3,200
OJIOINE R2FRANRESEFRLYLS 3,200
MASAMEES2ZEHART AL (022 2) 22,100 45,500 A 23,400
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